St Cecilia's Catholic Primary School



YEAR THREE 2019

19 936 03 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 2nd November 2018 Using "E7VA" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

Your prepackaged items will be available for collection, see details on right;

PLEASE NOTE:

All orders are delivered in bulk to your school at No Charge if placed before Friday 2nd of November 2018.

If you choose the home delivery option, your order will be dispatched the week ending 16th November 2018.

The \$8.00 fee at the end of your list only applies to home delivery orders placed before the cut-off date of Friday 2nd November 2018. Any Home Delivery order received past the cut-off date will incur a late fee of up t o \$17.50.



Your Campion Store 751 Marshall Road, MALAGA WA 6090 Contact Us
08 62402778
wasales@campion.com.au

PLACE: AT SCHOOL

DAYS: Monday 26th November 2018 **TIMES:** **Distributed by school**

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	SCHOOL RESOURCES					
	PERSONAL ITEMS FOR STUDENT USE					
P55268	Calculator Jastek Basic Compact 8 Digit	1		1	16.95	16.95
P51153	Crayons Noris Club Twistables 12's Assorted	2		2	5.75	11.50
P55449	Display Book A4 20 Pocket Red Refillable	3		2	1.95	3.90
P55492	Document Wallet FC Slimpick Blue	4		1	1.05	1.05
P55522	Eraser Plastic Pencil Economy in sleeve	5		5	0.70	3.50
P55541	Exercise Book A4 14mm Dotted Thirds 48 Page	6		8	1.00	8.00
P55567	Exercise Book 225x175mm 8mm 48 Page	7		1	0.55	0.55
P51353	Glue Stick Artline Purple 40gm	8		6	2.60	15.60
P55578	Graph Book A4 10mm Grid Squares 48 pages Spirax #130	9		2	1.20	2.40
P50199	Library Bag Large Nylon 35 x 40cm	10		1	8.95	8.95
	May be retained from previous year.		_			
P50113	Markers Faber Project Wallet 12 Assorted	11		1	3.15	3.15
P56706	Whiteboard Marker Connector - Black	12		4	2.35	9.40
P51609	Magnetic Whiteboard 21 x 29cm (double sided with marker)	13	_	1	9.50	9.50
P56252	Pencils-Coloured Colourush Pkt 12	14	$\overline{\Box}$	2	3.95	7.90
P50271	Pencil (HB) Goldfaber	15	_	10	0.55	5.50
P56237	Pencil Red Checking/Ruling	16	_	5	0.75	3.75
P56341	Project Book A4 8mm 96 Page	17	$\overline{\Box}$	3	1.60	4.80
P50090	Ruler 300mm Wooden	18	_	2	1.10	2.20
	Please Choose ONE of the items Below		— Choose One			
P50200	Scissors Junior 130/135mm Round End R/Handed	19		2	1.95	3.90
P56437	Scissors Sizzle Green Handle 130mm (Left)	20		1	3.25	3.25
	Scissors may be retained from previous year.		_			
P56448	Scrapbook Megasaurus Bond 335x245 64 Page	21		3	2.05	6.15
P56242	Sharpener Pencil Barrel Double Hole (EL)	22		2	2.05	4.10
P55463	Satchel Convention Zippered Fabric	23		1	13.95	13.95
	May be retained from previous year		_	•		
P51464	Headphones Stereo Deluxe Lightweight with Volume Control	24		1	10.95	10.95
	May be retained from previous year.		_			

PARENTS TO SUPPLY:

2 x Large boxes of tissues

1 x Art shirt

(Not a thin shirt as paint can soak through)

- 1 x Hand sanitiser (not soap)
- 1 x Pencil case

SUPPLIED BY SCHOOL AND CHARGED TO TERM 1 FEES

5 x Reams of photocopy paper Targeting Handwriting Book Year 3 English Skills Practice Workbook New Wave Mental Maths Year 3 Spelling Mastery book

My Word Book (if not retained from Year 1 and 2)

Please cover and name all books and stationery.

Please bring spare stationery in a named snap lock bag.

Please tick the items required in the box provided \downarrow

 Item
 Item
 Qty
 Unit
 Total

 Office Use
 Description
 No. Reqd
 Reqd
 Price \$ Amount \$

Number of Boxes ticked:

Delivery, packaging & handling \$8.00

ESTIMATED AMOUNT DUE
(PRICES CORRECT AT 21/09/18)

\$